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Topic:- Nutrition and Health

1) Whooping cough is caused by bacterium:/ m@ﬁ@ﬁﬁ_wm%wsﬁﬁ%
1. Bordetella mycobacterium/ TS AODISTRTH

2. Bordetella bronchiseptica/ STecal SicTgaDeHT

3. Bordetella parapertussis / Slacal SRTICR

4. Bordetella pertussis/ @%%Fﬂqﬁﬁm

Correct Answer :-

« Bordetella pertussis/@@?ﬂqaﬁm

2) An infectious disease caused by the Mycobacterium tuberculosis is:/ ATIBIAT TH STERHATUT AHE SaTY] S HROT
B9 9Tl U TS 3T 8-

1. Diphtheria/ fewitfean

2. Tuberculosis/ &3 T (CIERPeN )
3. Tetanus/ feeTg

4. Chickenpox/ EELD

Correct Answer :-

« Tuberculosis/ &3 I (CERP AI)

3) The Niacin requirements of pre-school children recommended by ICMR-2010 expert Group range from:/ ICMR-2010

frdwy wwE g1 vd-femertt a=i ¥ et PRt smawgear S dwad e
1.8.0 to 11.0 mg/day/ 8.0 ¥ 11.0 feEm/fea

2.4.0 to 6.0 mg/day/ 4.0 6.0 fFEnfeA

3. 1.8 to 2.0 mg/day/ 1.8 ¥ 2.0 fiEn/fea

4.0.5 to 1.2 mg/day/ 0.5% 1.2 A

Correct Answer :-

« 8.0 to 11.0 mg/day/ 8.0 ¥ 11.0 AT

4) Stunting is defined as:/ IERNY RREM B F U H uieynfya fomar wmar @:

1. Extremely low height for age/ 3T &1 e ¥ 3 HH TS

2. Extremely low weight for age/ anqaﬁef@ﬁ A HH HR

3. Extremely low weight for height/ mﬁ'ﬁ@@f 3 hH HR

4. Low weight for height/ a‘lﬂﬁﬁfﬁ%@@fﬂ HR

Correct Answer :-

« Extremely low height for age/ mﬁ%@@f GWEW—TFIWI?

5) Which programme had been launched on 12th April 20052/ 12 0@ 2005 $I BI--TT HTIHH ARTY AT UT?
1. NUHM

2. NRHM
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3. ICDS

4. WHO

Correct Answer :-

« NRHM

6) Energy needs during pregnancy increase because of the additional energy required for the:/ TR & SR SHell BT
STARGHAT T¢ T & FNP ¥ o eifafyaa oot wifg 80 2:

1. Growth and physical activity of the foetus/ Ty Ry &1 3fg vd wrdifeew nfafafy
2. Growth of placenta/ THATH @1 gfG

3. Normal increase in maternal body size/ ATdT % YRR & ATHR § T g

4. All of the above/ ITa Tt

Correct Answer :-

« All of the above/ Iudad Tt

7) Iron supplementation along with helps to cure anaemia:/ %mu-mu?ﬁ?ﬂn{ﬁﬁwmmmﬁﬁ
e faadt %:

1. Thiamine/ draf=

2. Folic acid/ Wifdid 3
3. Riboflavin/ YSaIGifa
4. Choline/ PHifer

Correct Answer :-

« Folic acid/ Wifeie 3

8) Protein energy malnutrition in children occurs due to:/ aiﬁﬁﬁaq-mfm_aiwﬁm%:
1. Poverty/ fadar

2. Ignorance of weaning/ qu@‘gﬁm"r MGG

3. Chronic infections/ dideTieie ThA

4. All of the above/ IR Tt

Correct Answer :-

« All of the above/ IWRiad T+

9) Which of following is not an airborne disease is:/ Eﬁﬁﬁ?@ﬂﬂ-ﬂ%ﬂﬂﬂqﬁ%‘?
1. Chickenpox/ EELD

2. Malaria/ HaiRkam

3. Influenza/ SURIEST

4. Anthrax/ WRiad

Correct Answer :-

« Malaria/ afan

10) Insufficient food intake could be due to:/ 3UUt W <UEW _ F BRI & TPl &:
1. Poor meal planning/ UISH B BRI T

2. Missed meals/ IS 318 &

3. Poor health practices/ TTRH &1 WRIS 3ATedl

4. All of the above/ STRrad Tt

Correct Answer :-
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« All of the above/ IWiad T+

11) The period of transition from childhood to adulthood is called:/ STCATaRT ¥ TUEHTIRAT H HHHUI P 3@l B Ped o:
1. Middle age/ #¥ 93:

2. 0ld age/ 9GO

3. Adolescence/ [ERURCEE

4. Preschoolers/ d-faemerit

Correct Answer :-
« Adolescence/ fhRIR aT:

12) Which of the following vaccine is not covered under Universal Immunization Programme?/ Fg # & @19 #t d=i=

e e eriww & aEd wiva T8 32
1. OPV

2. BCG

3. DPT

4.1DD

Correct Answer :-

- IDD

13) The protein in raw egg whites that binds biotin, preventing it’'s absorption is called: /&= 33 & bl # IufRE W,
S AT A SmafRrd Slev SUP AU B Vb T R, HEATT :

1. Avidin/ Tfaf&

2. Biocytin/ STAIgTAfeT

3. Carboxylation/ STalaacIdH0T
4. Biotinidase/ Wﬁ'ﬂ%@ﬁf

Correct Answer :-

« Avidin/ Tfafga

14) Which of the following should not be included in the diet of pregnant woman?/ Mfad! afgar & smer # 399 A 5
e g1 foman s arfee?

1. Protein/ WA

2. Carbohydrate/ ®Talggse
3. Smoking/ Y&ur

4. Vitamins/ foerft|m

Correct Answer :-

» Smoking/ YHUT

15) Lactose is present only in:/ maﬁﬁ_ﬁmiﬂm%
1. Milk/ g4

2. Cereals/ 3T

3. Fruits/ T

4. Vegetables/ Tfesat

Correct Answer :-

. Milk/ g4
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Maternal iodine deficiency is associated with the following complications in the infant:/ arar & GIT!ﬁts“ﬁﬁﬂTFﬁ, ECEIG)
gy & 5 | fory wifeaar @ Tl @2

1. Neurological cretinism/ i~ 1a e T (@)

2. Increased prenatal mortality/ mqﬁwﬁq@

3. All of the above/ JuRia G4t

4. Congenital abnormalities/ SHSITd SHIIATY

Correct Answer :-

« All of the above/ ITRIad Faft

17) Janani Suraksha Yojana (JSY) aims to reduce: / GFFﬁ'vﬁ?&lTﬂ’lﬁ'—lT JSY) aﬂa&u_aﬁm%:
1. Both of above/ JWRIad GH

2. Neo-Natal Deaths/ TasiTd RIg[3f &1 g

3. Maternal Deaths/ HIq g

4. None of these/ 10 I ®Is g

Correct Answer :-

« Both of above/ STRIE gl

18) The physiological fuel value of protein is:/ W& BT IWRFFATHS S A &:
1. 4.0 Kcal/4.0 fraidmant

2. 4.80 Kcal/4.80 foraiarandy

3. 5.65 Kcal/5.65 fraiaan

4.9.45 Kcal/9.45 fpaibant

Correct Answer :-

« 4.0 Kcal/4.0 fpaipant

19) Protein present in egg is known a:/ &%ﬁ?ﬁ@ﬁtﬁ?ﬁ?ﬂﬁ_ﬁlm?z
1. Complete protein/ Tl T

2. Incomplete protein/ &F{Uflih?cﬁ

3. Partially complete protein/ 3% &0 3 guf g1

4. None of the above/ IRad § ¥ HI3 e

Correct Answer :-

« Complete protein/ Trguf Ui

20) Ascorbic acid deficiency causes the disease:/ W‘ﬁﬂimiﬁ HH @_Wﬁﬂ'&ﬁm?:
1. Scurvy/ Thdf

2. BeriBeri/ s

3. Night Blindness/ IR

4. Pellagra/ D

Correct Answer :-

. Scurvy/Ev_cﬁ

21) Solid food first time added to an infant’s diet is called:/ TauiTd Y & 3MER A UGl IR WIS T 319 UieH B Ped
1. Colostrum/ UIY (P1aReH)

2. Beikost/ @Gﬁ?

3. Gruels/ gfemn


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

4. Feed/ thive|

Correct Answer :-

« Beikost/ m

22) Limiting amino acid in cereals is:/ 3FTs § FHTERT el o @
1. Lysine/ NIBIRE

2. Tryptophan/ ﬁ;@lﬁv_v{

3. Threonine/ J3nfAT

4. Methionine/ AREIMA

Correct Answer :-

« Lysine/ QraRH

23) Vaccination involves administering a certain breed of:/ Wﬁ_aﬁwmaﬁaﬁvﬁmmm%
1. Dead viruses or bacteria/ Td fauojaff a1 Siarugsit

2. Chemicals/ TgIIA!

3. Dead Fungi/ §d ®d&

4. Living viruses or bacteria/Siifad ﬁwefﬁmx—rﬁmyﬁ

Correct Answer :-

« Living viruses or bacteria/Siifad fawrosit ar Sharogsf

24) Additional calorie requirement during 0-6 months of lactation recommended by ICMR-2010 is:/ U F 0-6 HIE &

R, ICMR-2010 GRT 3rRifa Sifafvaa Fat smaxgsar @
1. 600 kcal/day/600 fFarary/fe
2. 550 kcal/day/550 fearmary/fea
3. 450 kcal/day/450 fraipaRi/feT
4. 350 kcal/day/350 fenben/fas

Correct Answer :-

. 600 kcal/day/600 fpaiepary/fe

25) Protein requirement of an adult male according to ICMR 2010 is:/ ICMR 2010 §RT 305 J&Y g 3=iRd Wl 3t
HTIIHAT &:

1. 30 g/day/30 /e

2. 40 g/day/40 T/

3. 50 g/day/50 W

4. 60 g/day/60 /&

Correct Answer :-

« 60 g/day/60 T/fe

26) The diet of a protein energy malnourished child should be:/ W&A-Ful FUING TR F AMBR S arar g1 @rigu]
1. Rich in good quality protein and low in calories/ WW@W@WWW@WW
2. Rich in poor quality protein and high in canries/WﬂWﬂﬁﬁ@?ﬁW@WaﬁﬁﬂﬁT
3. Rich in good quality protein and high in calories/ 33! oG aTa Wi ¥ GG UF ot B 3= T
4. Rich in poor quality protein and low in calories/wwaﬁmﬁwﬁﬁﬁﬁﬁgm

Correct Answer :-

« Rich in good quality protein and high in calories/ 38} T aTd W ¥ T T HAR! B 3= A
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27) Which prophylaxis programme was initiated by the Government of India in the Year 1962?/ YId PR GRT TY 1962
T -1 AR BrRir e fbam i o

1. Vitamin A prophylaxis programme/ f3eTfm A ARy HripH

2. Nutritional anemia prophylaxis/ Tiyr grawft Jadredar JERY

3. Iodine deficiency disorder programme/ 3TaTe Al AR HRIHH
4. Goiter control programme/ He1 g srdea

Correct Answer :-

. Iodine deficiency disorder programme/ SIS Al fAHR HRIGH

28) Maternal folate deficiency associated with an increased risk of neural tube defects in the infant is known as:/ HTdl

H widie 3t HHY, e RIY H 3799 § SH-8 af~! 919 aIY (A ogd f$hae) & wifem # 3fs § 9afRa 32
1. Hypoplasia/ gTauIRar

2. Hypocalcaemia/ U eI TRET

3. Spina bifida/ &1 SEfthar

4. Anemia/ THITEET

Correct Answer :-

« Spina bifida/ T ST3fFST

29) Measles is an infectious disease and it is comes under the category of:/ @I U UHMHG I X Yg & Juif &
T B

1. Foodborne disease/ HisHarfed AT
2. Waterborne disease/ STeTfgd 11
3. Airborne disease/ argagd AT

4. Deficiency disease/ ﬁfrcﬂﬁﬂ

Correct Answer :-

« Airborne disease/ argarfed I

30) Which of the following statement is incorrect?/ sqﬁﬁrﬁq-mwm%?
1. Cholera is an airborne disease/ &% T argaTed 1T 7

2. Malaria occurs due to biting of mosquitoes/ ARREAT AR & Ple I gl &

3. Tuberculosis (TB) is an infectious disease caused by the bacterium Mycobacterium tuberculosis / q&(@mlmﬂ & Tw IhmHS AT

e ST gRT gl §

4. Infection caused by the bacterium Clostridium tetanis Tetanus/3e TSTH fee=it ATHE SHATY] & HRUT T4 AHG JHHU Sial 3

Correct Answer :-

« Cholera is an airborne disease/ %GTWHTQHT%HW%

31) The gestation period for humans continues until the child is born and the “normal” gestation period is about:/

et § o 1 srafty gy o9 9% g@d @ ok gg ramar mf srafuemyw . S|t @:
1. 25 weeks/25 9ulg

2. 40 weeks/40 9&ilg

3. 50 weeks/50 Htdle

4. 55 weeks/55 9udlg

Correct Answer :-

« 40 weeks/40 9dlg

32) How much calories and protein are given to Pregnant women and lactating mothers under the revised (February

2009) norms of ICDS?/ ICDS & U ATAS! (BIaT 2009) & THad] T T=uT 71 & Afgarsii & fra- Sl va wd fad o g2
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1. 1000 Kcal; 18-20 g/1000 fpaiibaRY; 18-20 1

2. 1200 Kcal; 20-25 g/1200 faibaRy; 20-25 7
3.500 Kcal; 12-15 g/500 fpalipaRy; 12-15 71
4. 600 Kcal; 18-20 g/600 fpaltepaisy; 18-20 T

Correct Answer :-

« 600 Kcal; 18-20 g/600 fEelad); 18-20 U1

33) A deficiency of calcium in the blood is called:/ IR A SRIA S FN A wgrwErs:
1. Hypocalcemia/ BT eI

2. Hypercalcemia/ STAURG TN

3. Phosphorylation/ BIEBIRIGRT

4. None of the above/ S8 J HIs gl

Correct Answer :-

« Hypocalcemia/ gUIGR@T

34) Whooping Cough is also known as:/ pret@Ede_ W Ped e
1. Diphtheria/ fSw®iifwan

2. Pneumonia/ =g~

3. Tuberculosis/ &3 T (GERTARI)

4. Pertussis/ EI?Eﬂim

Correct Answer :-

« Pertussis/ uaﬂ%m

35) Influenza can be cause due to the infection of:/ FTHRIEST & YHHUT P BRI &l HPbdT

1. Bacteria/ Siarg]
2. Virus/ faumg
3. Fungi/ d&®
4. Algae/ QT

Correct Answer :-

» Virus/ ﬁ'ﬁﬂ'ﬂl

36) How much calories and protein are given to children (6 months to 72 months) under the revised (February 2009)

norms of ICDS?/ ICDS ¥ TRNTT WFST (BRad) 2009) F 3l Il (6 HTE A 72 HIE) BT fha- Fal¥T ud W= fed = &2
1. 1800 Kcal; 20-25 g/1800 fpaiibaiy; 20-25 71

2. 1600 Kcal; 18-20 g/1600 fPaibaRy; 18-20 U1

3. 500 Kcal; 12-15 g/500 faibay; 12-15 a1

4.1000 Kcal; 20-25 g/1000 fEeNBensY; 20-25 71

Correct Answer :-

« 500 Kcal; 12-15 g/500 fEeipa’); 12-15

37) During diarrhoea of the baby what will you do?/ I &I &% 8 11 W 3TY T H4I?
1. Doctor should be called at once/ Wﬁrﬁﬁﬂ?aﬁw

2. Boiled, cooled water should be given frequently/ I8Td &R 331 {1 oid TR-aR foame

3. ORS should be given/ ORS

4. All of the above/ ITa Tt
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Correct Answer :-

« All of the above/ Iudad Tt

38) Which deficiency in children occurs even in mild case of diarrhoea?/ &% & gad-pad aral # off =i & feast it @t
STl 82

1. Zinc/ TS

2. Potassium/ Ui Rrm
3. Fat/ 991

4. Protein/ GG

Correct Answer :-

. Zinc/ i@

39) Which of the following disgase is not protected by vaccination under Universal Immunization Programme?/

HTdHH & Siaiia 38 | fobd A1 P v wReor 7 foar man @2
1. Diphtheria/ fewitfean
2. Polio/ Tiferay

3. Tuberculosis/ &% I (CTERG AIfIT)
4. Cancer/ &% I (HI)

Correct Answer :-

« Cancer/ & AT (m

40) C. Gopalan, in 1971 did systematic diet survey and found that kwashiorkor and marasmic children consume
similar diets and brought out the a theory that is known as: /3. Ture A af 1971 # T i smerR ademr fear ur o
I Ul fop SRR iR AT AiEd st & Mg Ty TuT A 3R 39 YR R 3511 U@ R fear v & A9 A T
STaT g1

1. Theory of dysadaption/ 3UTI@ e (FSTTSPRM) &1 Rigd
2. Theory of adaptation/ WWW

3. Theory of malnutrition/ SUNUl &1 RIgd

4. Theory of nutrition/ o &1 g

Correct Answer :-

« Theory of adaptation/ 3% &1 RIFALS)

41) The first dose of 100,000 IU administered at 9 months of age, along with measles vaccine is:/ 9 HTE Bt GITQWW
P 3R S Y TS 1,00,000 1U B TEH GIH FPrEA:

1. Vitamin A/ﬁETﬁT-IA
2. Vitamin ¢/faerfim ¢
3. Vitamin B/fqeiffA B
4, Vitamin E/ faeiM E

Correct Answer :-

« Vitamin A/ faeifi= A

42) During pregnancy the Human Chorionic Gonadotropin (HCG) is a hormone produced by the:/ TyfaR %?RHEQTH
ifvaife (HCG) ATH® AT &1 Jaured FRIBAT&:

1. Fallopian tube/ e AfdenT
2. Placenta/ Yo (@iden)
3. Ovary/ 3{SR™

4. Mammary gland/ o et

Correct Answer :-
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« Placenta/ 4TS (@i¥ieT)

43) Which ministry has the overall responsibility of monitoring the ICDS Scheme:/ f¥ W=IIe@ W 1CDS TeHT # AR
P GHY SR 82

1. Ministry of Rural Development/ JTHTUT fa&T Haraa
2. Ministry of Women and Child Development / Al U8 T fasma Hara
3. Ministry of Urban and Rural Development/ @< Td ATH0T fasT AralTerd

4. Ministry of Agriculture Development/ q»‘fﬁﬁmuw

Correct Answer :-

« Ministry of Women and Child Development / Afg<l Td aTd faeTq Hae™d

44) Digestion of polysaccharide begins in the mouth by enzyme:/ T4 ¥ UliA®RISS & U $T SRTY ATHS TOITSH T

1. Ptyalin/ @nfed
2. Lactase/ TRH
3. Lipase/ GIECE
4. All of the above/ ITRIad Faft

Correct Answer :-

« Ptyalin/ &feM

45) The growth and development of girl child is not adversely effected by:/ dTfi®I3i ¥t 3f T& e W T ufogpa
YT TE) USar B

1. Caste/ Sifdl

2. Healthcare/ aTRE @HTA

3. Early motherhood care/ $Rf&& AT@ S@UTA
4. Nutrition/ TS0l

Correct Answer :-

« Caste/ Sfd

46) Normal iron requirement during pregnancy recommended by ICMR-2010 is:/ ICMR-2010§1?T1T1ﬁHRH3?a?HGI':[¥iﬁH
TTHTY SRR ATAAHT 8:

1. 35 mg/day/35 feRnfea
2. 45 mg/day/45 /e
3. 75 mg/day/75 finfea
4. 100 mg/day/100 finfea

Correct Answer :-

« 35 mg/day/35 ftRmfea

47) The commonly used measures for detecting malnutrition in children is/ are:/ ¥=il T FUT BT UdT A 8¢ ATHIRTR
T SUN 373

1. Stunting/ IG-¥5

2. Underweight/ AR Y HH YR
3. Wasting / et

4. All of the above/ ITdad Tt

Correct Answer :-

« All of the above/ B‘miﬂﬁm—ﬁ
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48) High protein and high calorie diet is recommended for:/ % iU 3= Wi Ud 3= Saldl SMER $T SIR4ET $ STl 8:
1. Malnourished child/ $UITNd st

2. Obese person/ TeTqT Id Afaaar

3. Adult / ITpT

4. Hypertension/ S=R&ddY

Correct Answer :-

« Malnourished child/ $UITYd st

49) The important mineral within bone are:/?%ﬁﬁﬂﬂﬁﬁﬂﬁg@@ﬁﬂ?;
1. Calcium, phosphate and chloride/ Wﬂﬂ, HIEhe Gﬁ'ﬁ%ﬁﬂ{s’

2. Calcium, phosphate and iron/ $feRmH, Biahe 3R MR

3. Phosphate, magnesium and chloride/ HIabe, iRme GaTEEﬁTIEE’

4. Calcium, phosphate and magnesium/ $eRH, Bibe 3R THfREH

Correct Answer :-

« Calcium, phosphate and magnesium/ $feRIH, BiEhe 3R HifRrEH

50) During the 1st trimester (0 to 12 weeks o_f pregnancy), total weight gain for most women should be between:/

formamet arutaw & 0 @ 12 TwTe) F SR, st afgarsi d el
1. 0-0-0.5 kg/0-0 ¥ 0.5 fom
2.0.5 - 2 kg/0.5 9 2 fawam
3.2.0-4.0 kg/2.0 ¥ 4.0 T
4.4.0- 8.0 kg/4.0 9 8.0 foom

Correct Answer :-
« 0.5 -2 kg/0.5% 2 fom

51) Services sponsored under ICDS to help achieve it’s objectives is/are:/ ICDS%W@W‘?W%%‘EW

A Harg 33
1. Immunization, Supplementary nutrition, Health checkup/ ufeRefiwRu, WW, Wy Sid
2. Referral services, Pre-school non formal education/ SONUr RthRe) JaTU, Yd-faarat sruenie e
3. Nutrition and Health information/ TS0l Td W STHSR!
4. All of the above/ ITjad Tt

Correct Answer :-

« All of the above/ Iudad Tt

52) Which of the following genetic disorders that can be diagnosed before birth?/ 378 ¥ f TR fieR H =1 uga
g oI qhdl 82

1. Hemophilia A/ SHIHIRET A

2. Thalassemia/ JaIfEra

3. Sickle cell anemia/ fafed I whiftan
4. All of the above/ B‘U”iﬂﬁﬁlﬂ

Correct Answer :-

« All of the above/ ITad Tt

53) The Indian Government has started pulse polio immunization program to ensure that children up to 5 years of age
get polio vaccine free of cost:/ YRd WPR 7 UG FHATHT T & g ued wiferay uferefiazor srdw smewy fvan € f 5 ad 9o ot ey
qra gt Bt 13w et RA firar:

1. Twice a year/ AT IR
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2. Thrice a year/ 3§ § 9 IR

3. Four times a year/ 3 # R §R
4. Five times a year/ g & ufgr IR
Correct Answer :-

« Twice a year/?ﬂfff?ﬂaﬁ

54) Infantile pellagra is widely prevalent among children in areas where staple diet is:/ Mﬁmﬁﬁ &=l ® =i § Jue
FU Y YT ST § W81 BT B AER :

1. Rice/ dIdd

2. Wheat/ ﬁ'ﬁ

3. Millet/ STSRRT

4. Maize/ Hddl
Correct Answer :-
« Maize/ HIHI

55) Infection of Ch%orion, Amniotic fluid and Placenta is called:/ SRTg (®f¥aiq), 3a avd URARe® wigs) ok mfAra (@den &
Tshuor I PEd &

1. Chorioamnionitis/ ®INATRRIATSCH
2. Anthrax / Q’*‘Q?El

3. Hepatitis A/ 3UeEfed A

4. Tuberculosis/ &3 INT (CIERG ANTI)

Correct Answer :-

« Chorioamnionitis/ SIRAEAARRY

Topic:- General Knowledge and Logical Ability

1) National Commission for Women is headed by:/ Y18 WiRaT ST B areaei §:
1. Lalitha Kumaramangalam/ Sl $HRHTAH

2. Menka Gandhi/ ®aT Tifelt

3. Mamta Sharma/ HHar THf

4. Sushma Swaraj/ gYHT TR

Correct Answer :-

« Lalitha Kumaramangalam/ @feral $ARETAH

2) Which answer figure will complete the pattern of the question figure? / e # B9 @ I enq:ﬁuar Glﬁfﬁfﬂﬁ {Uf B

Question Figure /T3 3T Answer Figures | 3o 3T foai

2NN

)
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Correct Answer :-

Vi

3) In India, child sexual abuse is defined by which of the following Act?/ YR« ¥, aTd A gdasR &Y 3718 & fFw srffFam gr uRkurfya fasar war @2
1. Juvenile Justice Act/ fFaR = sifdfag

2. Domestic Violence Act/ aiqf%w 3Ty

3. Equal Remuneration Act/ JHTT uiaite siffad

4, Child Labour Prohibition Act/ aTe s 8 sifafam

Correct Answer :-

« Juvenile Justice Act/ fF=IR =g siffam

4) Home Science is an:/ Ay T® ___ &
1. Applied science/ 3G I

2. Biochemical Science/ éammﬁwﬁam

3. Pure Science/ T fag™

4. Animal Science/ ST fas=

Correct Answer :-

« Applied science/ 3IoRa A

5) Why is Sharda Act important in the Indian context?/ YRd & T ¥ Rar siftfraw weaqef «i 82

1. It recommends free education for all children up to the age of fourteen/ g dicg ¥ 9% & Wi 5=t F e [ERIGARI EIENEIEZG ?
2. Tt recommends supply of study materials to girls free of cost/ T8 St P e Siwra TR SMYfRf Pt SR HRaT &

3. It prohibits child marriage of girls/ g SIfiB13N BT aa-fIare g PRAT?

4. It prohibits child labour/ T aTet 37 FAfti e &

Correct Answer :-

« It prohibits child marriage of girls/ Ig SIfereTait 1 s1a-fare Fftg B g

6) The advantage of MS WORD is in:/ THTH 98 $T @TY T frerar :
1. Letter writing/ T TRg-T

2. Preparing lecture/ ORATT IR B

3. Preparing question paper/ 9% U TR B

4. All of the above/ Sudad Tt

Correct Answer :-

« All of the above/ G’q?iiﬁ Tt

7) ECCE is the abbreviation of:/ SHIRII$ &1 [T A9 &:

1. Early Childhood Care and Education/ WWWE@W

2. Early Culture of Care and Education/ 3fcif deaR 31t 3R T8 TIHIA

3. Early Childhood Concern and Compulsory Education/ 37elf I13t8gS &ar U8 HHIRT T
4. Early Childhood Compulsory Education/ 37eif TI3cegs FHURR! TH I

Correct Answer :-

« Early Childhood Care and Education/ 3fcif ai3tegs HaR TS TIHTH
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8) The Dowry Prohibition Act was passed in:/ <ol Py aifaferaw ﬁurﬁagan T

1. 1961
2.1971
3.1981

4. 1991

Correct Answer :-

« 1961

9) The family headed by a female is known as:/ Afe@T gfeaT ara uRaR &1 Pl oIl e
1. Patriarchal/ TUqerTeT®

2. Matriarchal/ HIGHTIHSD
3. Matrilocal/ TeieIA®
4. Patrilocal/ ufoenfe

Correct Answer :-

» Matriarchal/ ATqIIHD

10) Which of the following is not a graphic file extension?/ 378 J B9 & Wfre (REATW®) BIgd o1 AR (THIE=H) 6 82
1..JPG

2. .BMP

3. .PNG

4. .DOC

Correct Answer :-

« .DOC

11) The Hindu Succession Act 1956 provides for women the right to:/ %ﬂm 3fRIfFraH 1956 ql%maﬁ i T ARPR 3?11 %:
1. Maintenance from husband/ ick ﬁ?ﬁ's' TG gH

2. Childless woman/ R:ddr Afgar

3. Intercaste marriage/ &l?lﬁf?ﬁqﬁﬁ'l'e'

4. Paternal property/ Iq@ Ty

Correct Answer :-

« Maintenance from husband/ afd & fafe oo UM

12) Fertilization of ova in humans take place in:/ ﬂi[ﬂff ¥ 3v8 SIS BT 8= HEare:
1. Ovary/ 3SR

2. Vagina/ o

3. Fallopian tube/ Tralifaa Afciest

4. Uterus/ T

Correct Answer :-

« Fallopian tube/ Safua AfresT

13) FCI stands for:/ FCI T X7 - &:

1. Foreign Co-operation with India/ THRR-T &I- TR fag Sfear
2. Food Corporation of India/ S BRURRA 31t fsa

3. Fossils Corporation of India/ WIRIGH HRURRH ATt ez

4. Food Coming to India/ 1;!3_5.'35&171 T e

Correct Answer :-

« Food Corporation of India/ oS HRURIE 3T 3%?11
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14) A computer performs all mathematical and logical calculations through:/ FTeRX T MTAT TG AfFH TUANT & Wreqw A o &
1. Central Processing Unit/ 3<1d TshHUT 36T (Y TRARIT gfe)

2. Memory unit/ Ff STS (FHI gfe)

3. Output unity e $PTE (3M3eYe gfie)

4. Visual Display unit/ £%0 T 35K (Rgerd e gfie)

Correct Answer :-

« Central Processing Unit/ T THHT sih‘l’a; (@?}T TR qﬁz)

15) Kicking, punching, beating is an act of:/ <Td AR, @T HRAT, Hear Cacay) %:
1. Sexual abuse/ lﬂqgsﬁa%w

2. Physical abuse/ RTIR® gEiagR

3. Emotional abuse/ Wgﬁdﬂ%ﬂ

4. Financial abuse/ o ’g{afa'é']?

Correct Answer :-

« Physical abuse/ ININ® gHaER

16) Which among the following is the basic unit of society?/ 'sﬂﬁ"\q P TS B Wﬂﬁsﬂﬂi %”
1. Husband and wife/ afd g g&t

2. School/ e

3. Family/ IRaR

4. Neighbours/ U@?ﬁ

Correct Answer :-

« Family/ gRaRr

17) DIRECTIONS: In question given below select the related letters from the given alternatives./ o R few RIL N ¥ few Kly fawe & | Wafia
e B g |

CFDB : XUWY : : GJHF : ?
1. SPRT

2. TSQU

3. TQSU

4. SPTR

Correct Answer :-

« TQSU

18) At what rate of interest will a sum increase by 30% in 2 years at S.1.?/ f&d QTURY & $1 @* W 2 96 & HIS RT=A

30% §¢ STE?
1. 15%

2.12%

z
3. 102%

4. 30%
Correct Answer :-
« 15%

19) Binary numbers refer to:/ TR} G@Tadt BT 3 I

1.0,1
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Correct Answer :-

.01

20) Two sums of money are proportional to 8: 9. If the first sum is Rs.200, find the other sum?/ QA8 : 9 Q?Wlﬂ'q'l'cﬁ
8| afe ugeh TR ¥.200 2,4 gt AR 7@ BV

1.Rs.210/ %.210
2.Rs.225/%.225
3.Rs.245/ %.245

4. Rs.250/ %.250

Correct Answer :-

» Rs.225/%.225

21) Sarva Siksha Abhiyan was a scheme to improve:/ ?Tq‘ﬁT&IT 3T . ﬁﬁi‘m %ﬂﬂﬂ? e A
1. Legal status of women/ Higaraif aﬁaﬁ:ﬁ ffy

2. Functional status of women/ nfgenstt @ wriEe Rufy

3. Educational status of women/ Ffgeiaii @t Qférep fufay

4. Political status of women/ Afge3ll &I Iomfae RUfT

Correct Answer :-

« Educational status of women/ Afgaaf & Rférew fRufa

22) The term for a fertilized egg from conception until the end of two months development:/ == T dx 3 HIE & o™ 9@ Ft @y F ?R‘Fr,
R srvs BIfkieT B 31 Hel o &

1. Embryo/ YUI

2. Zygote/ IS
3. Foetus/ Ty gy

4, Ova/ 3{US HIAHT

Correct Answer :-

o Embryo/ YOI

23) Which one of the following diagram represent the relationship between husband, wife and family?/ faddsa@isw GITEFI?T, ufa,afer 3R
IRER & AY T B uid 82

4.

Correct Answer :-
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24) Marriage to more than one wife is called: /T&% J 3iftre Telt & ﬁa’l’%’ Dodldl %:
1. Polyandry/ TSIE'C[T?I?CI
2. Polygyny/ a@u’«ﬁa

3. Matrilineality/ HIGa<T
4. Matrilocality/ HIGUUTACT

Correct Answer :-

« Polygyny/ SgUia

25) B is the only child of only daughter of C’s paternal grandfather. How is C’s father related to B?/B, C ¥ aal St ®1 SPdldl 9l $I sPpalal Jar g1 C
% firan B 2 for v R el &2

1. Maternal Uncle/HTHT
2. Paternal Uncle/T=T/di%

3. Father/fOar
4, Cannot be determine/3Td & foba S FeaT

Correct Answer :-

o Maternal Uncle/HMHT

26) 4 4
20% of 50% of 5 of a number is 200. What is 20% of that number?/ T& T8I & 5 BT 50% P 20% ,200 2| IT H&IT I
20% fearg?

1. 620
2.375
3.560

4. 500

Correct Answer :-

« 500

27) National Literacy Mission is a programme for:/ !T@Tl TrerRn e %gﬂib' CavEa %:
1. Education/ fRra

2. Health/ &g

3. Nutrition/ TYYoT

4. Housing/ 3{1d™F

Correct Answer :-

« Education/ e

28) AIDS can spread from an infected person to another person through:/ T8 T&% Tepfrd aafea & W fed BT _ P W I o godl 8:
1. Sharing food/ WWW

2. Blood transfusion/ YT (X a'c.rﬁ)

3. Sharing comb/ HT T2 TR

4. A mosquito bite/ AR & Pl

Correct Answer :-

» Blood transfusion/ Y& (¥ IGH)

29) What should come in place of the question mark (?) in the following question?/ f=ffad v & wraaras g ) &
RIF W T 31T AMfeQ?

126 + 14 x 9 - 53 = (?)
1.28
2.76
3.18
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4.-52

Correct Answer :-

30) Gastric secretion is stopped by which among the following hormone?/ E':Tﬁ J HI-91 I STATRRA TT19 P Aehear 82
1. Enterogastrone/ @ﬂﬁgﬁ

2. Cholecystokinin/ mﬁ@iﬂ'{ﬁ?

3. Gastrin/ ﬁﬁ%ﬁ

4. Pancreozymin/ UfhaiemafaT

Correct Answer :-

» Enterogastrone/ @ﬂ'ﬁﬁj’:{

31) A sudden but permanent change in a segment of DNA is called:/ DNA & 5t Ts ® s RI® Ty wirf uRadq &t Pl oIl &
1. Mutation/ S@R&

2. Inheritance/ R

3. Phylogenetic functions/ GIT%—W i car

4. Ontogenetic functions/ SafeT-gaTaTd Yt

Correct Answer :-

« Mutation/ S@Rad

32) In India child laborer is defined as a working child in the age group of years and below:/ YRd & af Td I B 3 F

BHBTST T2 B a1 e & 7§ wRHia fear mar &

1.14

2.13
3.12

4. 10

Correct Answer :-

. 14

33) National Rural Health Mission (NRHM) launched in:/ 810 ITior a4 fIR (NRHM) T 3Re & faar mam ami
1. 2004
2. 2005
3. 2006

4. 2007

Correct Answer :-

e 2005

34) Coding of the data is done to assign:/ 3T P FIET oA Exek ﬁl‘E Edkein)) %:
1. Numeral to answer/ IR &I TSHiH

2. Symbol to answer/ ITR &I Ui

3. Both of the above/ IWiad GHT

4. None/ ®F gl

Correct Answer :-

« Numeral to answer/ ITR & THH

35) A man from a fixed point, walks 4 miles north, turns to his right and walks 2 miles, again turns to his right and walks 5 miles, again turns to his
right and walks 3 miles. In which direction does he faces now?/Td& 3iTeHt Uw fAf¥a fig & 4 e IR = & Terar 31 fwR i geaw 2 e gaar 81 f
3T geoR 5 Wid IadT 81 SuP 1 Y ¢ Yoo 3 W Jadr 81 39 IqT 7@ foby famm & &2

1. North/3aR
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2. South/gf&ror

3. East /llff
4. West/q‘f\zﬂ

Correct Answer :-
« West/af3m

36) Average of five consecutive even numbers is 12. Find the largest number./ U¥ @R G9 G@134f $T 394 12 8|9
TS =T FTG B

Correct Answer :-

- 16

37) What should come in place of the question mark (?) in the following question?/ ferAfifad y== # wxar® g ) &
RIT TR T 3T A2

25% of 8800 + 20% of 5500 = ?% of 13200/ 8800 %1 25% + 5500 PT 20% = 13200 FT ?%
1. 50
2.60
3.70
4.25

Correct Answer :-

« 25

38) The Integrated child Development Service (ICDS) was introduced in the year:/ JRfdd a1ef fdwRT HaT (ICDS) FT R af T garm uT:
1. 1965
2. 1975
3. 1985

4. 1995

Correct Answer :-

e 1975

39) 12 Men can complete a piece of work in 20 days. In how many days will 3 men complete that work?/12 &4 T

P B 20 fo & 1 HX T §| I B B 3 7o fvam fo & g wre
1. 50 days/50 f&a
2. 60 days/60 fad
3. 40 days/40 fa
4. 80 days/80 fad

Correct Answer :-

« 80 days/80 f&=1

40)
DIRECTIONS: What should come in place of the question mark (?) in the following letter series?/ fd=T: i@ srer Avft & wyaras fas (2) & RF R T
STET?

bl S, il m, ¢, tljl n, dl u, kl 2.
1.q
2.0
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3.p

4.r

Correct Answer :-

0

41) Which of the following is not an ingredient of ‘MS Office’?/ 371 & P, 'THTH T’ &1 TP TP -6l 82

1. MS Word/ THTH a8

2. MS Excel/ THUH TRTA

3. MS Power Point/ THTY UTGR G5

4. MS In look/ THUYH g7 g

Correct Answer :-

* MS In look/ THTH g1 P

42) Basic education (Nai Talim) is the concept started by:/ STURYd e (=Rﬁ T-lTEﬁH) _ R IR™Y $ A TP @uUrRon ]
1. Jawaharlal Nehru/ STdTgdled ERES)

2. Mahatma Gandhi/ T TITelT

3.5.K.Dey/ T8.&.

4. Rabindranath Tagore/ sy TR

Correct Answer :-

« Mahatma Gandhi/ FgTET gt

43) DIRECTIONS: Find the Mirror image of the given group of letters./ frdam: ﬁq M QI'E.'T & qqg &1 E’foT yfafars AT ]|

A
BUZZER

B
, A3ssug
2. RUZZEB
5. A3ZZUB
4. IREZZBU

Correct Answer :-

. AJssug

44) When an object is sold at Rs.836, the loss is 5%. Find the cost price of the object./ Wa'\‘ﬁ?ﬁ??. 836 AT A5 %
P g Bl 1 S Ig BT 9 Yo [Td Py

1. Rs.860/%.860
2. Rs.830/%.830
3. Rs.880/%.880
4. Rs.920/%.920
Correct Answer :-
« Rs.880/%.880

45) A person covers a certain distance at the speed of 30 km/hr and returns to the starting point at a speed of 50
km/hr. Find the average speed of the person for the whole journey./U% afad ts ffda gt 30 fooi/der it wfq & ag F=ar @
3R AT SRR faig W 50 fopefi/aer i nifa @ e 81 o a0 F forg afda 7 i wifa gra w31

1. 50 kmph/50 feel/ e
2.37.5 kmph/37.5 faHy €
3. 48.5 kmph/48.5 farH T
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4.52.5 kmph/52.5 f&H) &

Correct Answer :-

« 37.5 kmph/37.5 feefl e

46) DIRECTIONS: Select the one which is different from the other three responses./ ﬁfﬂ: 39 ooy &1 9= B oY o N | R %l
1. Bus/ 9§

2. Train/ ¢

3. Truck/ ¢

4. Wheel/ ufgar

Correct Answer :-

« Wheel/ ufear

47) PMGSY was started in the year:/ PMGSY T 3R™ a¥ ___
1. 2000
2. 2001
3. 2002

4. 2003

Correct Answer :-

« 2000

48) The most conspicuous visible change that occurs in boys during puberty is:/ T0:9fRI ¥ SR AS®! & g1 AT Yaifie JET TG URad &:
1. Increase in height/ daT8 & 3f&

2. Development of voice box/ HUS &I fadmRT

3. Production of sperms/ Wx’rﬁ CARCCICT]

4. Increased sweating/ TRIFT 31fd M7

Correct Answer :-

« Increase in height/ e & 9

49) UNICEF work for:/ T% __ % g o1f el &:
1. Children/ /=

2. Women/ fieae

3. Divorcees/ TAHRGIS

4. Men/ GBS

Correct Answer :-

« Children/ s=at

50) Count the number of triangles in the following figure./ g Glﬁ?ﬁf ﬁﬁ"lj\'xﬁ B BT J1d PN |

1.4

2.12

3.16

4. 10

Correct Answer :-
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51) DIRECTIONS: Study the following table carefully to answer the question given below./ fié=r: frraffaa wroft @1
TS e B - el T vy 31 IR g

Production (in Quintal) of different crops of a state in the given years./ ﬁq e ol & Th I & fafira wael &1 Idre

(fBea )|
Crops/®dd 2005-06 |2006-07 |2007-08
Rice/dmad 8920 7100 7920
Wheat/ T 4800 5040 4610
Pulses/ ael 1830 1580 1420
Sugar cane/ 4T 29700 29430 28450

By what percent approximately did the production of wheat increases from the year 2005-06 to 2006-07 ?/ af 2005-06 T 2006-

07 ® g & IaureT H T1AT fpamt wfa=ra 91 gf g$2
1.5%

2.10%

3.20%

4. 15%

Correct Answer :-

52) Internal bleeding can be caused by:/

1. Injury/ e

2. Tliness/ 3T

3. Medication/ gaTa3ff

4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ G’q?iilﬁ Tt

53) In a certain language 'TRIPPLE’ is written as ‘'SQHOOKD’. How is ‘DISPOSE’ written in that code?/ {5 Widfaw HTET # ‘TRIPPLE’ F *'SQHOOKD’
foraT S & | 'DISPOSE’ Pt St HTeT # $ ferar wimewm?

1. CHROMRD
2. CHROMSD
3. CHRONRD

4. CHROORD

Correct Answer :-

« CHRONRD

54) Window 2007 is an:/ fdglsi 2007 T &
1. Operating system/ SR R

2. Control system/ & Ried

3. Memory system/ TaR Ren

4, Life system/ Ae% RieH

Correct Answer :-

« Operating system/ 3TRfeT Ren

55) Which of the following glands secrete 0il?/ Eﬂ'ﬁ J S1-3 9 da Fifad e 82
1. Thyroid gland/ 3{ag (YRRIZS) I

2. Pituitary gland/ Uigy 3y

3. Sebaceous gland/ e (RiafRmw) ufRy

4. Endocrine gland/ 3r=d-9rd} Uy
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Correct Answer :-

« Sebaceous gland/ @TaT (RafRma™) ufRy

Topic:- Managerial Skill

1) The skills required for carrying out any job successfully are termed as:/ {3l H1d & THAATYEP B 8 ATAAD DI
ol T ol 8

1. Soft skills/ Safdea Heth Hre

2. Communication skills/ ¥9R ®I<a

3. Facilitation skills/ JTHIHROI BRI

4. Hand skills/ % ®=1d

Correct Answer :-

« Communication skills/ ¥aR HA

2) The person who is not paid for his work is a:/ mm&quﬁuﬁﬁﬁaﬁ_m%
1. Lay leader/ 3mifRiféra Sar

2. Top Leader/ RILER

3. Professional leader/ UR/aR =dl

4. None of the above/mﬁﬁaﬂéqﬁ

Correct Answer :-

. Professional leader/ UR/aR Adl

3) Television is a:/ %?ﬂﬁ\'rlqw g
1. Media mix/ A1eaH fasor (@ifsa o)
2. Source/ Ad

3. Medium/ AT (FHifSam)
4. Channel/ AT (3e))

Correct Answer :-

« Channel/ Iﬂﬁ(ﬁﬂﬂ)

4) A continuous geographical area is a component of:/ ddd iifere aa_wmiﬂm%:
1. Group/ 9Hg

2. Community/ SHard

3. Social change/ IS TiRad

4. Social control/ ATATRN® a0

Correct Answer :-

« Community/ 94ad

5) DRDA expands to:/ DRDA T 0T AITH &:

1. District Rural Development Authority/ foram amtor fasr nfereor

2. District Rural Development Agency/ fora arfor faeer woidh

3. District Rural Development Act/ foren ardtor fawmg siftfraa

4. District Rural Development Association/ fSrar aretor fder TaiRiee=

Correct Answer :-

« District Rural Development Agency/mﬂmﬁwm
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6) Micro Level Planning is an example for:/ q&wwﬁuﬁmmmi
1. Imperative planning/ 3{ard aieHT

2. Five year planning/ d=afg aieHr

3. Regional planning/ R

4. Target group planning/ WWW

Correct Answer :-

« Regional planning/ &g el

7) The degree to which an innovation is difficult to adopt is called:/ aﬂéqa.uaéqemmﬁwwﬁmwmﬁ-—r%,sﬁ Pel
ST 8:

1. Observability/ e
2. Complexity/ giaar

3. Compatibility/ 3JHeldr
4, Triability/ garmafEar
Correct Answer :-

« Complexity/ afkar

8) Adopter categories are the classification of the individuals within a social system on the basis of:/ TjﬁﬂT (Q?-ﬁg?)
i GEL R Cord F ATYR TR FAfFal o1 Fffeor :

1. Rate of adoption/ T8I &R (Xe 3T TST=M)
2. Innovativeness/ Tauad-1adr

3. Social system/ QTSI T

4. None/ &3 -Tgf

Correct Answer :-

« Innovativeness/ Taudd-ad

9) Minimum need programme was launched during:/ <I7dd STaRTHAT BTIIHH _%TaTFI SR faar T o:
1. 3rd five year plan/ et taas{a derT

2. 4th five year plan/ @ Gaasifa dsr

3. 5th five year plan/ Urad] Yeaufg gsmr

4. 7th five year plan/ gradl dras{d arerHT

Correct Answer :-

« Sth five year plan/ Grad} taayfg dremr

10) Planning in India as it is at present can be termed as:/ Wﬁaﬁqﬁﬁﬁ@ﬁuﬁmaﬁwm%
1. State planning/ I ST

2. Centralized planning/ &g d areHT

3. Decentralized planning/acla'v?ﬁﬁm

4. Indicative pIanning/?ﬁo_dW?ﬂTﬂ:ﬂ

Correct Answer :-

« Indicative planning/ﬂ'ﬁv_dmtﬁﬂ

11) According to Berlo, the communication process has:/ gl b SR, TR ufspar Bﬁr?
1. Four elements/ IR 9cd

2. Six elements/ ¥: U
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3. Eight elements/ 313 Ucdh

4. Ten elements/ ¢4 Ucdh

Correct Answer :-

« Six elements/ &: Uch

12) Training is basically a:/ WG qaa: TH &
1. Product/ 3dTq

2. Process/ Ufehd

3. Activity/ Tifafafer

4. Programme/ eipiet

Correct Answer :-

« Process/ Ufsar

13) The State having highest literacy rate is:/ Taifie YT&RET &% ara T4 &:
1. Uttar Pradesh/ 3R Ul
2. Kerala/ G|

3. Tamil nadu/ IAQATg
4. Odisha/ 373

Correct Answer :-

. Kerala/aﬂﬁ

14) The leader who directs others to do a work is known as:/ mﬁﬁﬁw*mﬁ%ﬂﬁﬂﬁmﬁ_ﬁ%%
1. Autocratic/ R

2. Democratic/ EEIGIGED

3. Laissez Faire/ SXI&YU 7 & aTal

4. None of the above/ SWRIad & ¥ HIs gl

Correct Answer :-

« Autocratic/ PR

15) The head of Planning commission is:/ fife sma w5t HW&IHT_WH%W%:
1. Prime minister/JuTa=T

2. President/ Jgufd

3. Chief Minister/ TEIHA

4, Agriculture Minister/ &Y #:4t

Correct Answer :-

e Prime minister/qﬂﬂ'q'aﬁ

16) Collection of facts is a step of:/ Hﬁﬁ)‘lmﬁ?ﬂm@w%
1. Programme planning/ DT TS

2. Co-ordination/ ¥H-dg

3. Controlling/ fa=0T

4. Evaluating/ Hcaied

Correct Answer :-

« Programme planning/ ®TI%H ST
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17) The person who guides and influences others is called as:/ g‘aﬁmmﬁz&hmﬁm@ﬁmmﬁmmﬁr
Hgardl 8:

1. Teacher/ Rrerw

2. Parent/ fHYTdH
3. Leader/ 7l

4. Politician/ IS
Correct Answer :-

« Leader/ =l

18) Which bank was involved in the rural infrastructural fund setup?/ JTH01 3G IR F RITTAT § SI9-971 96 oy U2
1. RBI

2. NABARD/ TTaT8

3. IDRB

4. SBI

Correct Answer :-

« NABARD/ TTaTS

19) 'Akashvani’ is the centre for:/ ‘3THIRE ST FHE8:
1. Radio broadcasting/mw

2. Television broadcasting/ THITdo STSHIRET

3. Radio telecasting/ &3l Teli1RET

4. Television telecasting/ Telifae eefierfeeT

Correct Answer :-

« Radio broadcasting/ Ifal TR

20) Method demonstration applies principle of:/ ﬁﬁmﬁ_mmmmm%
1. Learning by doing/W?ﬁ@ﬁ

2. Seeing by doing/ CRGIRCE]

3. Doing by hearing/ g &X &

4. Doing by touching/ WW

Correct Answer :-

« Learning by doing/ &% Traq

21) Transfer of technologies by Krishi Vigyan Kendras to:/ ?ﬁﬁﬁ'ﬁa’?_ﬁtﬁiﬁﬁﬁﬂﬁﬂ 3[R0 PR &
1. Farmers/ framt

2. Farmwomen/ Afgal fami

3. Both of the above/ JURIa gHI

4. None of the above /3WRIad H § &S gl

Correct Answer :-

« Both of the above/ RPNESKAL]

22) Which is not a step of extension educational process?/ 378 § B4 fawR & ufspar &1 v =wRor 76t 82
1. Situation/ oRfufy

2. Objective/ 354

3. Teaching/ U
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4. Learning/ 3iftrme (@)

Correct Answer :-

« Teaching/ &MU+

23) Adult literacy programme can be considered:/ WW&RHTWH%_WWW%:
1. Formal education/ =i e

2. Informal education/ 3T e

3. Non-formal education/ R-3i=nies e

4. All of the above/ Iuad Tt

Correct Answer :-

« Non-formal education/ TR-3T=e e

24) The basic unit of development under IRDP is:/ IRDP%WW%W?@'@%—
1. CD block/ WSl il

2. District/ orer

3. Village/ Titq

4. Family/ gRaR

Correct Answer :-

« CD block/ ¥ s

25) Nature of the programme planning process is:/ mﬁasmﬂwuﬁmaﬁu@ﬁr%
1. Unifying and integrating/ SIS+ 9 Teh1RUl

2. Helping/ gTIdl &1

3. Supporting/ U BT

4. Sympathy/ ﬂ%ﬁ{ﬁm

Correct Answer :-

« Unifying and integrating/ STS-T @ TRl

26) Rural development programmes are implemented by:/ mmm?ﬂmﬁ_mmm%
1. DRDA

2. KVIC

3. CAPART

4. CSWB

Correct Answer :-

« DRDA

27) Self-help group concept was adopted in:/3ad JETdT TYE BI @URUT ¥ (o=} it <0
1. IRDP

2. IAAP

3. PMGSY

4. SGSY

Correct Answer :-

« SGSY

28) The father of Extension is:/ fa&R &1 s & el SdT &
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1. J.P.Leagans/ 3. O}, Th=g

2. G.L.Ray/ Sfl.Td@. I

3. 0.P.Dahama/ 3i.4t. g
4. ].B.Chitamber/ S&t. frawR

Correct Answer :-

« J.P.Leagans/ . UI.

29) Extension programme planning is a:/ ﬁﬁﬂmﬁﬁﬁq@_%z
1. Social action process/ TTHING ST Ufshar

2. Economic action process/ 3 w1 ufgear

3. Corporation action process/ ¥ (HIURTF) BT Ui

4. Political action process/ Iofae o1 ufsear

Correct Answer :-

« Social action process/ ITHING HT4 Uihal

30) Andragogy deals with:/ TRt A wafa @:
1. Change/ TfRad=

2. Adult learning/ a8 AfOH

3. Society/ JHNS

4. Ancient civilization/ T g

Correct Answer :-

« Adult learning/ 3% 31feRTH

31) Model viilage programme is:/ 3reef aH HrfEH §:

1. Pradhan Mantri Adarsh Gram Yojana/mfﬁﬁ'aﬁ et 7 At

2. Pradhan Mantri Kaushal Vikas Yojna/JeTTH=t S1e fa T aiemT

3. Deen Dayal Upadhyaya Grameen Kaushal Yojana/ < a7l SUTeard UrHior S I=ret TeiT
4. Ajeevika/3MeadmT

Correct Answer :-

« Pradhan Mantri Adarsh Gram Yojana/H%H——ITi'aﬂ 3me=t Iy gieT

32) Radio is an:/i‘%"ff@_%:

1. Visual aid/ T HgIdd IUH 0T

2. Audio aid/ 4 HgIddh 3UDRUI

3. Audio-visual aid/ 4H-2G gl YD
4. All of the above/ Iudad Tt

Correct Answer :-

« Audio aid/ 40 HglId JUHRUT

33) Acceptance and rejection are one kind of:/ TR T4 3RAIHIV Uh UPR BI/BT &
1. Failure of channel/ ATEH (I97d) BT fAthad

2. Feedback/ WBIsa® (FAfa2H)

3. Treatment/ dgR

4. Empathetic feeling/ ﬂﬂﬁ’lﬂﬁﬁ &Iﬂ'{ﬁl

Correct Answer :-
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« Feedback/ BIE8® (YA-a=M)

Topic:- RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ a1 fFafafEa weriw #) wmyde yest sad 9
o2 T sgfamed wxal ¥ O fawey o1 999 ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

Td g8 Siifad a1 fSeifa avg § S SFaTe) ATS0 S BT TaTH 2 E! 81 T6t A iy WuR &1 3gH BiaT 81 T 98 e R A1 § ol T=nfa
fopar =1 36T 81 BT (EAPITI) TSU B! T TUTH TPl A Fefei w1 Ft uftpar & St ey siar-avf & e gHs@ # e &Y | |ew
Peforad g o1 R, Td G & fpelt Anf (@) & A1eaw | Yer o1 81 98 ATH e, i, ST, Sroafeera a1 3= Aforay o1
PIS YU 81 Yobdl 8| WS B 3=Id: Uashdi gIRT Ul e fampifea (Sts) o forar wimar 31 afe wia A wewr fua & @ dur fear €, at
Udal i W= B [APSd HI 7 HgH § SIS U 781 gl 81 3rd: T U= Fwherdl BT vl yraempdt ¥ 39 e arel ufagfy
(FISAP) & YR W HaT 8| T8 Uiyl Tag WarR Thadr It ufthar & dem Td 39 iR YRR 9914 $T U a9 gial 8

31§ 37aT & weed, R ag ufvasr amar @ Roraw W= wer far man §1 918 98 wgad WTNT §) 91 g1 4T A1, AR 3 gyTasiiedr & g
Tef Sr HEayul graT 8|

The living or non-living thing attempting to share information is called:/ STH®R! AT HIA BT TATH FR &) SHifaa a1 feifa
TG B FEd 8

1. Source/ ¥

2. Message/ =r e

3. Channel/ HIeIH

4. Receiver/ Tt

Correct Answer :-

. Source/ |

2) DIRECTIONS: Read the passage and answer the questions that follow./ a1 fFrafafea e ) emyde yese 3ad 9
fea o sgfased uxel ® Wl fywe &1 9u9 ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

T g Sfitfad a1 freffa ag 8 S STHerRT ATE HI 61 WY o= 81 81 981 § iy WuR &1 S¢H 8T 81 WeRI 98 SHerR1 °ra ¢ o) wariva
e o1 321 {1 P (TAPIST) TS F1 W yHTS! TP TSR B3 o ufthar @ =it erafiy siar-anf & e qwsm & omam= g1 dew
Felafld 8 91 W, Wid e &I fHeft At @Fe) & areaw | ueH wdl ¢ | 98 WIHH M, e, aafdard, sreafeard ar 5 Aoy &1
PIS YU 8 JbdT &1 WS B 3=Td: Udhdi gIRT W U faspifea (&ers) o1 forar wirar 81 afe 9id 3 W Sfua < @ durR fean €, ot
Uehd] &I WS B fIRHESd B 7 UM & BIs TawT 781 gt 81 3rd: Wid U=t hadr &1 f~vfy, ureasat ¥ 39 fires arelt ufegf®
(BTSSD) F YR W FAT 8| T8 Uy Faq JaR ThadT @1 9T B Je 09 39 SR YRR 9911 71 TP 3G9 gial 2

3= ® e @ wed, oy ag ufvawr smar @ s wd=r ware fran wan 1 918 98 Wgad WTT 81 7 g 4T AT, AR Bt gHTaRiedT & g
Fef 3= Ag@yul gt B

The information that is being communicated is:/ TaTfed Bt o1 @ BRI B . Fed |
1. Receiver/vTadr
2. Message/ =0

3. Channel/ ATIH
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4. Source/ |id

Correct Answer :-

. Message/ T3

3) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: fraff@a ez I wgd® vew? S9& R
o T agfacmedt w=Al § & fawey &1 9a= B

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

T g8 Sifaa a1 forifa aeg § S STt A8 31 &7 9019 2 ! 1 6t A iy HuR &1 Sgd BiaT 8| T 98 sHe R A1 § o T
fopar =1 TET 81 BYST (TAPII) TSU FI T THTH TPel A Jefei w3 Ft ufspar & <Y ity siar-avf & e IHe@ # o= &Y | |ew
PeforaAd gl o1 IR, Td Gx & fpeht Anf (@) & a1ead | Wer o1 81 98 ATH Ui, i, ST, SroafeTd a1 3 Aforay &1
PIS YIS 81 YobdT 81 WS B 3=Id: Ushdi gIRT UK U4 faspifsa (Sers) o forar wirar 31 afe wia 3 Wewr Sfua <0 @ durR fean €, ot
Udl i WoR B AP He T A & HIS U 781 gral 1 3rd: T U=t ThardT BT [+vig, Wraspdt & 39 fire arel ufagfy
(BISa®) F YR TR FAT 8| T8 Ufayfd Taq IaR Thadt &1 9fpar B Jem 7d SH iR YRER 991 71 TP 3G9 gidl 2

3= ® 37aT 8 weed, Forad g ufvasr amar @ Rorad W= wer farar mar 21 918 98 vga WTT 8 91 AT 9T W1, AR 3 gyrasitedr ¥ g
Tef erg HEayul gt 8|

The process of bundling the message into an effective package that is easily understandable for the intended

audience is:/ _mﬁ@mmﬁﬁmwﬁm%\?ﬁ H‘ﬁ?&ﬁm—ﬂﬁ%ﬁmmﬁﬁ 3T 8l
1. Encoding/ﬁ@q(@ﬁ%ﬂ)

2. Decoding/ fa®ie (S®IfEm)

3. Transmitting/ TOWoT

4. Receiving/ ey

Correct Answer :-

« Decoding/ fa@Te (Siwifem)

4) DIRECTIONS: Read the passage and answer the questions that follow./ 3= fFafafad meiw # e yd® ygss 39F
& T agfasedt wel § 98 fiwey o1 999 F3)

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

Td 9g Siifad a1 fHieifa avg 8 S ISR AT HRA BT TaTH B @1 21 T8t A 1Y WaR &1 3gH BiaT @ | W 98 WS R |r ¢ ol "aria
fopaT o1 321 R 1 Pre (TIPS GBI T YHTS! TPl # TS B3 o uftear @ =it erefiy siar-anf & R qwsm & omam= g1 dew
Felafd 8l 91 W, Uid 1 &I fHet At @Fe) & areaw | ueH odl ¢ | 98 WIHH M, Mo, aafdard, sreafeard ar 5 Aoy &1
PIS TS 8 ThdT 8| T B 3~Td: UTadpd! gRT U ud fqapifsa (Srrs) o= forar wman 81 afs a7 4w 3fa &1 9 dur fpar g,
Uehd] &I WS B fIRHSd B 7 UM & HIs T 761 gt 81 3rd: Wid u-t hadr &1 f~vfy, wreasat ¥ 39 fires arelt ufegf®
(BTSa®P) F YR W FAT 8| T8 WAy Feq JaR ThadT @1 9T B Je 09 SH SR YRR 9911 71 TP a9 gial 2

3= ® e @ WY, T ag ufvawr emar @ s wd=r ware fvan wan 1 918 9% Wgad WTT 81 1 g 4T AT, HAR Bt gHTaRiedT & g
ge sra=1 Agquf ghar &1

Source delivers the message through a:/ dd %mm@m‘%wmm%:
1. Source/ Aid
2. Message/ = e
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3. Channel/ ATEIH
4, Receiver/ ATl

Correct Answer :-

« Message/ R/

5) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: fufef@a e # wyd® ves? 39& R
o0 T ggfaedt wxAl ¥ O fawey o1 9w w1

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

W g sfitfad a1 felfa avg 8 S STHeRT ATE HI 61 T &= 81 81 981 | iy WuR &1 S¢H 8T 81 WeRI 98 W1 1T ¢ o) wariva
e o1 381 {1 BT (TAPIST) TS H1 W YHTS! TP TS B & ufthar @ &t erofiy siar-anf & fe qwsm & omar= g1 dew
Felafld 8 o1 W, Wid e &1 Bt anf @) & areaw | ueH odl 3| 98 W M, e, aafdard, sreafeard ar 5 Sfory &1
PIS YIS 8 bl &1 WS B 3=<Td: Uddhdi gIRT U e faspifed (&ers) o1 forar wirar 81 afe 9id 3 W Sfua < @ durR fear €, ot
Udl i W B fAPEd He 7 THgM § HI$ quwn 781 gidl 81 3rd: T Tt ToardT BT +1vig, Wrarepdt & S« firem arel ufagfy
(BTSa®) F YR W FAT 8| T8 Uy Taq JaR ThadT &1 9T B Je- Te 39 iR YRR 9911 671 TP 3G9 gidl 2

3= H 3raT 8 weed, Forad ag ufvasr amar @ Rorasd W= wer frar man 81 918 98 wgad YT 8 9T AT 9T W1, AR 3 yyTaRiedr ¥ g
He era=a AEaquf ghar &1

Source gets back the answer from the receiver:/ T, Uil | SR & FUH ... YT T 8:

1. Feedback/ Wgs® (GAHARM)
2. Message/ =r e
3. Channel/ H1e9H

4. Source/ 9id

Correct Answer :-

« Feedback/ W8 (FAHITA)

6) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: frufef&a e I wgd® ves? 3% R
o M sgfaeedt u=Al & Wl fawey &1 T Y1

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

W g wftfad a1 felfa avg 8 S STHeRT WIS HI3 61 T &R 61 81 981 | Y WuR &1 3¢H 8T 81 WeRI 98 WHerR! 1T ¢ o) wariva
oo =1 TET B 1 BIST (TAPII) TSU B T THTH TPol A Jefei w3 Ft ufspar & Y iy siar-avf & e IHe@ # o= &Y | |ew
Peforad 8l oI W, Td Gu & fpeht At (@) & Ao & Yer o1 81 98 ATH U, e, ST, SroafeTd ar 3 A0y
IS OIS 8 THdT 8| TS PI 3=Td: UTaiehd| gIRT UTe Ud fasifed @1ore) o= o simar 81 afe wid A wewr 3fe < & dar fear g, ot
Ual i WoW B AP He 7 THgM & HI$ U 781 gial &1 3rd: T U=t TheraT BT [+1vig, Wrarpdt & S« firem areh ufagfy
(BTSa®) F YR TR FAT 8| T8 Uy Faq JaR Thadt &1 9fpar B Je- 0e SH iR YRGR 9911 71 TP a9 gidl 2

3= H 37aT 8 weed, Forad ag ufvasr amar @ Rorad W= wer faram man 21 918 98 wga YT 8 9T AT 9T W1, AR 3 gyTaRiiedr ¥ g
Tef era HEayul giaT 8|

For the effectiveness of communication, the important element is:/ F9R Bt FHTaRiedT & T Ayl Tes 2
1. Words/ Rlsq
2. Context/ T


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

3. Sentences/ A

4. Language/ T8I

Correct Answer :-

. Context/ I

7) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: frafef@a e I w-yd® ves? 3% R
o0 T ggfaedt wxAl ¥ O fawey o1 9w w1

The word has been derived from Latin word ‘communis’ which means make common.

‘*Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3T Weg ‘FRTHIA B Al Weg ‘Frgfra A forar war 3 gt aref @ <3ma ar s 9w |
TR’ g% wfshar g o grRT & a1 iftes aafe fammy, o, srgyferal, serY, reat, fRel, smaa e &7 Ser-verq &3d 71

AqEdt & U8 3rU&T B wTdl 8 7P 78 A srgaiial #1 ufaffie oY ok I Jafddas qur Anfe® ATl & ATEH | WhadT B SHarsal
a% Ugaq & fag ofva wv|

T 98T B U B F FT Aqaspal Forg Falaw A1e o1 T6R X GHdl € 98 & 9ar|
Hfe 5w Sifaa wroht €, ora: a9 oA R aifiregaa e ok gkl & Rt 9t sifiraafaa Twe™ 9t smazasan gt 31
3T T T T B I1 78T, HTG JHTS R W & Badal-wadr gl

Communication is derived from a:/ maamgﬁ%m, Qﬂi_ﬁmw%l
1. Latin word/dfe Re

2. Greek word/ & Wsq

3. French word/ ﬁ)_d‘\flE{

4. Indian word/ HRdI Xg

Correct Answer :-

« Latin word/@Ifa! Tsg

8) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: frafefEa ez ot egd® vea 3@ -
o3 T sgfamed wxal ¥ O fawey o1 999 ¥

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3eH eg PRSI B Afe 2eg wrgi~rr F forar war @ Rt e & <3ma ar wrgn a9 |
FaTe T8 ufthaT & T g1 &) O Siftes aafda faamy, awt, srgyferay, s, reay, fRmE, smai anfe @1 smer-yeM #vd &1

Aqamal ¥ Ig e P A | fF a7 srum gl o1 ufafaiftie $¥ o 3% Jufdas au1 Wi Wl & ared ¥ Awedl ot SHargal
a® Uga & fo afva s

Y Aed DI YT B & [T Aqeacpd ! o1 T T BT TERT R HdT § 96 & VAR
I gu ofifaa uroft €, 3ra: a9 oM faaR sifireraa w== 3R gkl & faaRy o siftreafda wog™ &t smazgwar gidl 21
3T 18 3 WS L T 78T, AT JHTS AR R & wadl-Gedr gl
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A process by which two or more people exchange ideas, facts, feelings and information is called:/__ ﬁm%

forad gr1 & a1 sifte safe fammy, o, srgyforat, wrer, wreal, fel, smeia anfe &7 SierH-wer &34 §1
1. Adoption/ EQTEE@I

2. Communication/ TN

3. Rejection/ 3RAIHTd

4. Organization/ 976

Correct Answer :-

« Communication/ JHISuT

9) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: frafef@a M I wgd® ves? 3% R
o0 T ggfacedt wxAl ¥ O fawey o1 9uq w1

The word has been derived from Latin word ‘communis’ which means make common.

‘*Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Weg ‘FRFTHIA B Al Weg ‘Frgfera A foram wan 3 gt o @ <3ma ar s 9w |
TR’ g% wfshar 8 o grRT & a1 iftes aafe fammy, e, srgyferal, e, wreat, fRel, e nfe &7 Ser-verq #3d 81

Aqadt & U8 3rU&T B wTdl 8 7P 78 I srgaiial #1 ufaffie B Sk S Fafeas qur Anfe® ATl & ATEH | WhadT B SHarsal
TP Uga & g ofva #e

T 98T B U B $ T Aqaspal For g Falwd A1e BT T6R X TPl ¢ a8 & Gar|
Hfe gw Sifaa wroht €, ora: a9 oA R sifiregaa e ok gl & At 9t siftraafaa Twe™ 9t smazasan gt 31
3T A1R 3 TRI=G B AT A1EY, HT-d THTH TR R & Badl-padr g

A person is expected to motivate his/her followers and to reach heights of success is termed as a:/ ag ufad a1 dgardar

g TR gg 3rdem Y Tet @ 6 g Srum srgaTiat @ A aar $t Harsal aw uga F g afva
1. Master/ AR

2. Boss/ &9

3. Leader/ Adl

4. Successor/ ITRAABTY

Correct Answer :-
« Leader/ Jd1

10) DIRECTIONS: Read the passage and answer the questions that follow./ fE=1: frafef@a meriw & wgde vew? su&
= fod M sgfawad v # O fawen &1 999 38

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Weg ‘FRTHIA B Al Weg ‘Frgfra A foram wan 8 gt 3 @ <3ma ar wrsn 9w |
TR’ g% wfshan g oA gRT & a1 iftes aafea sy, awa, srgyferal, e, wreat, R, smaa anfe &7 3er-werq &3d 81

AqEdt & U8 3rU&T B w1l 8 7P 78 I srgaiial @1 ufafifie B ok S Fafdas qur Anfe® waTEl & ATEH | WhadT B SHarsal
a% ugaq & fag ofvd wv|

T A& B U HA S FA Aqeaepel! o wdlww |1 1 701 SR Wehell @ 98 § R
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Hfr g Sitfaa uroft &, era: 39 orom faar sifirarea 39 9k gl & faam=Y &6t siftraafe Tem Y simazgear gidt 21
3T AT T WA= B3 U1 78T, UTHT JHTS HaR W & Gaal-wadr gl

A leader can achieve his goal by using:/ ﬁaﬁ'ﬂf WWWME&HWWW%

1. Adoption/ Wdi@fd
2. Communication/ &N

3. Rejection/ 3RAiGId

4. Organization/ §7T&

Correct Answer :-
« Communication/ ST

11) DIRECTIONS: Read the passage and answer the questions that follow./ frdar: FFafafaa e me
= fod T ggfawadt vl & 9 fawen &1 7 B

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3el eg PRSI B Afe Weg wrgi~rr A forar war @ e ordf & <3ma ar wrgn a9 |
AT 98 Uidan § R g1 3 a1 arfres safe e, aeal, srgufardl, ST, s, R, ameka 3nfe &7 Smer-uer 3 21

Aqawal ¥ Tg e I A | fF a7 oo srgaria o1 ufafAftc $¥ ok 3% dufdas au1 iR Wl & ared ¥ Awdl ot SHargal
a% UgaA & e ofvd w9

T 98T B U B F 1T Aqeadpal Forg Galaw AT o1 TGRT X Gl ¢ 98 & Sar|
9 gu ofifaa wroft €, ara: a9 oM faaR sifirared w== SR gl & faarY ot siftreafea wagm ot srazawar gidl 31
31T 918 3N TG L T 8T, AT JHTS AR R & wadl-GerdT gl

Expression can be done by:/ Gm_m?ﬂmﬂiﬁﬂ%:
1. Living beings/ Sifaa wforat

2. Non-living beings/ ﬁﬁffame«ﬁ

3. Both of the above/ IWRIad !

4. None/ ﬁ'st:reﬂ

Correct Answer :-

« Living beings/ Siifaa wforaf

12) DIRECTIONS: Read the passage and answer the questions that follow./ fE=1: frafeaf@a meriw # wgde yew? su@
= fod M sgfawad v # 98 fawen &1 9u9 38

The word has been derived from Latin word ‘communis’ which means make common.

‘*Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Weg ‘FRAHI B Al Weg ‘Frgfra A foram wan 3 gt 3ref @ <3ma o wrsm 9w |
TR g% wfshar g o grRT & a1 iftes aafea sy, o, srgyforal, e, wreat, e, e anfe &7 Ser-yerq &3d 81
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Agqcamdt T g8 U Bt AT 8 FF 98 orum sraTRal #1 ufafAifia oY ok 3% dufedas aur argiRe v & Areay | Jwadr it SHargal
TP UgT & e Afva oY

T 6T B U FRA & T Aqeaepat O FaIaH |IUH ST TGN $% Febdl § 96 & FaR|
9fer g Sitfaa wroft &, era: 39 orum famm sifirered 33 3R gl & foamRy &6t srfiraafe wg@ &Y siravgwran gidt 21
31T 1R 3N WRAG X T AEY, AT JUTS IR R & Badl-GerdT gl

Human society thrives on:/ ATHd AT R BeIdl-pddr %:

1. Adoption/ m

2. Communication/ TN

3. Rejection/ 3rdi@id

4. Organization/ 976+

Correct Answer :-
« Communication/ JHISuT

Topic:- Child Care and Education

1) Lack of prenatal care does not increase the risk of:/ THd-Ud STUTH & UTT I BT WITaH 8 9¢dT 8:
1. Infant mortality/ awiTd FRURR T
2. Premature birth/ W@fq@ﬁ\_ﬁ:{

3. Child abuse/ 918 gfagR

4. Low birth weight/ S & 91 a9 8

Correct Answer :-

« Child abuse/ STd gHaER

2) The ability to achieve a grasp of the nature, significance, or explanation of something and to have a clear or complete idea of it is known as:/ foddt e &t

ypfa, Arferan/srfyuiar, ar saren $ T U HRA SR SHS Y YT HYUF THS/SAURUT U HIA ST TAAT S el oIl 8:
1. Emotionality/ HTghdl

2. Handedness/ 8¥d-UTIT=IdT

3. Understanding/ JHY

4. Feedback/m (lﬁ?ﬁ%

Correct Answer :-

e Understanding/ 9HL

3) The functioning of ICDS is monitored by the:/ Gﬂﬁ_\‘ﬁw % 1l P FFART &I HI ATl %:
1. Ministry of Child Development/ HT-d HH14= fawTg Harem

2. Ministry of Women and Child Development/ II'%T‘IT T T fap™g Hare

3. Ministry of Health and Family Welfare/ XY Tq TRAR S0 HATTH

4. Ministry of Social Justice and Empowerment/ﬂ'ﬂ:l'lm <II Tq SHTIHIRAT AT

Correct Answer :-
¢ Ministry of Women and Child Development/ q%?ﬂ T T fap™ Harer

4) The belief that inanimate objects have life like qualities such as thoughts, wishes, feelings and intentions is known as:/ g fayra f ﬁﬁhaﬁaﬁ o Sital
T 70T, S AR, ST, YT Ud 3R18 &) Id &, FHgardT gl

1. Egoistic thinking/ SEH=IATGH (WW) [EGK
2. Animistic thinking/ Gﬁaaﬁr IEGE]

3. Abstract thinking/ \W{ﬁﬁﬁ‘ﬂ

4. None of the above/g:fﬁ J ﬁé :ﬁﬁ
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Correct Answer :-

« Animistic thinking/ Shaare} fida

5) Which among the following service is not covered by the ICDS?/ Sﬂ'ﬁ YA Aar Gﬂg?ﬁ'eﬂ"ﬁl a?asa qﬁ 3Teit %?
1. Supplementary Nutrition/ Y Ty

2. Pre-school non-formal education/ ﬁm—q@f &@W QT&‘[UT

3. Scholarships to meritorious students/ Byrdt faeffa %ﬂ mﬁﬁﬂ

4. Health check-up/ ¥dT®YJ Glylﬂ

Correct Answer :-

« Scholarships to meritorious students/ HeTat faenfiay %@ @'ﬁqﬁﬂ?ﬂ

6) Legal age for marriage for a female is:/ oy %ﬁ ﬁ?ﬂ?ﬁ %YI 3 %:
1. 18 years/18 au‘
2. 19 years/19 am‘
3. 20 years/20 EL

4. 21 years/21 EL

Correct Answer :-

e 18years/18 EL

7) Which among the following can cause impairment during pregnancy?/ 37{& A B THITRT F aTFl &fd BT SR 7 b1 %”
1. Use of drugs and medicines/ HIGH Wﬁ@ 3NN BT IuTNT

2. Certain infections/ $& BRI

3. Inadequate consumption of food and nutrients like iron/ LﬁTrFlQa ?ﬁBT mm qdl BT I ITHTT

4, All of the above/?cl?iaﬁ It

Correct Answer :-

o All of the above/mﬂiﬁ

8) Developmental tasks are given by:/ faeraTare wrd " N P GIRT U %
1. Freud/Q’TTE_s'

2. Piaget/m@f

3. Maslow/aﬁﬁ

4, Havighurst/%ﬁ?%‘::

Correct Answer :-

« Havighurst/ W

9) Stories for young children should be:/ BIe Il Pt ﬁTﬁRﬁ 'bﬁ:ﬂ' il'l'%QI
1. Short and simple/ 3 T4 WA
2. Based on fantasy, fun and humour/ m, Iﬁﬁ—'ﬁ?ﬁ Td g R areytfea

3. Interesﬁng/m
4. All of the abovelm It

Correct Answer :-

¢ All of the above/?qéaﬂ auft

10) Accordlng to the Article 21(a) of the Indian Constitution all children between which age group should be provided with free and compulsory education?/

F ATDE 21(a) P IUR, F6a omg a1f & it a= Y Fr:3pee wd arferard e & s =fee

1. 6-12 years/6-12 a’ﬁf
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2.5-10 years/5-10 Y

3. 6-14 years/6-14 TN
4. 5-15 years/5-15 9Y
Correct Answer :-

e 6-14 years/6-14 Ty

11) Scientific knowledge about the behaviour of human beings in relation to other human beings is best imparted through the discipline of:/ amu-:[mﬁ?uﬁr
U & aER W Wafia Aqe g B & fawg & wread § waww &1 A yaH fear wrn g:

1. Biology/ Sfta-fasr

2. Sociology/ THNS-RIRA
3. Medicine/ﬁﬁv_(\q'[ﬁilﬂ
4. Psychology/'q:hﬁiﬂq

Correct Answer :-
« Sociology/ THIN-RIRA

12) Which among the following organization in India focuses on the empowerment of women and girls as they are disproportionately affected by poverty and
discrimination, suffers from abuse and violation of rights, entitlements and access and control over resources?/ HIRd k- | E"Tﬁ q H'ﬁT'T A7 ?T'TB';I it=pif l’,'a'
FIfP1 F TARTHIU W BHd Fal ¢, TIP3 Frefar ga Aeura § searguifas w0 & yuifaa 8, 391 gafaer ¥, Ud Sy, ursarah,
QYT 9 Ugd U9 39 WR a1 & Ieweq § Wifsa &2

1. WHO/ S5, T4 311,

2. CARE/ W (T L3R E)

3. NCERT/ .91 5.3

4. NIPPCD/ T 3773, Ut 1t Tt €.

Correct Answer :-

« CARE/ PR FHTIRE)

13) Intensity of sound is measured in:/ &t &Y diaar &1 9 _ﬂ o sran %:
1. Cenﬁmetres/@ﬁa

2. Decibels/é?ﬁaﬂ

3. Hertz/ Bt

4, Milometers/ﬂﬁﬁjﬁa

Correct Answer :-

. Decibels/@?ﬁaﬂ

14) The process by which sperms and ovum fuse to form a single cell is called:/ J[$PT0] Td 3US PIRTBT & TRfHd v Th PIRTBT I T} ufeear w
FEA g

1. Assimilation/ STETATAE UG 0T (TRITHR)
2. Fertilization/ﬁ'aa:[
3. Mutaﬁon/@ﬁﬁ?ﬁ

4, Constitution/ 7T

Correct Answer :-

« Fertilization/ fS=

15) Which among the following body build which tends to be long and slender?/ Eq'ﬁ A frd IR T A da1 @W'@ﬁ Eil ‘I@ﬁf tI'Ié STl 82
1. Mesomorphic build/ TER=TY (FeiHTthes) o

2. Ectomorphic build/ AETH T (TFIATh®) T3

3. Endomorphic build/ 3= (@Tﬁ%) T4

4. None of the above/ TH & ﬁé 8!
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Correct Answer :-

« Ectomorphic build/m (Qﬂ?ﬁm) Qe

16) A condition in which the foetus or new-born has an insufficient supply of oxygen which can lead to brain damage is called:/ dg fRufy forad Faema ﬁf‘{[

# TRfte 3t amyfef sroaf gieht & e oo afdrss ot gfd wgaawdt @ ot 2
1. Anorexia/ 3FBTRIE T AT (GRS

2. Anoxia/ SiiaiTor-&foTaT (THTTaRTa)

3. Bulimia/ &TIIRIET (aitferm)

4. None of these/ 378 § 1S T8l

Correct Answer :-

« Anoxia/ 3ifeiTor-efforar (eATfaTan)

17) Unfolding of characteristics potentially present in an individual that comes from the individual’s genetic endowment is known as: /w fea & wurfaa

U IuRya U erfirceron, St 39 aafea ¥ SMIdiRre Toi F od & ST yPe A1 & 19 | W11 A1l @
1. Learning/ 3ITTH (@)

2. Distinguishing/ faNa

3. Maturation/ URUe

4. None of these/ T8 ¥ TS 781

Correct Answer :-

« Maturation/ PIRCEE

18) Fail-save and Zero reject are models of:/ aﬂ-ﬂ?&ﬂ T ST, ¥ fHexi &:
1. Mainstreaming/ 37 YRT =hqiE] (ﬁ:lejr&l"'l)
2. Labelling/aa?ﬂ

3. Rehabilitaﬁon/g:ﬁh

4. Intervention/ %I&T

Correct Answer :-

» Mainstreaming/ J¥H YRT Tam @qﬁjﬁm)

19) Which among the following is a not a type of articulatory disorder?/ 37{& kS| aﬁq, TP YPIR BT SHRUMTHD foer =|€f %?
1. Omission/?ﬁtﬂ

2. Aphonia/ XXl

3. Substitution/ WTaRITT

4, Addition/ Ie

Correct Answer :-

e Aphonia/ 3¥aXdl

20) Psychologists call Early childhood age as:/ 'H‘iﬁ?l'lﬁﬁ? MRS FTeaTaRIT 3y | - m %
1. Problem age/ THIHT 31

2. Pre-school age/ fa—%’JTW—tff (Eﬁ—ﬁg_d) g

3. Toy stage/ m’ﬂ SART

4. Pre-gang age/ ﬂ?ﬁ—qﬁ (ﬁT—ﬁ:‘T) S

Correct Answer :-

* Pre-gang age/ aFﬁIEf (Lﬂ.ﬁ:ﬂ) 3y

21) Defects with which children are born with are known as:/ T foF a’“ﬁ' & Y o A %3% __ gl NIdl %:
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1. Acquired disabilities/ 3ifefd GWTQ

2. Congenital disabilities/ STHSITd 3fRIeRIATY
3. Natural impairment/ AT e &fiorar
4. None of these/s:fﬁ J ﬁé Tt

Correct Answer :-

« Congenital disabilities/ TSI 3R

22) When pressure is applied on the infant’s palm by placing something on it, she curls her fingers around the object. This reflex is known as:/ STd JduiTd @t

AN W $o T@HY 3 W ST QAT STl & Y 98 S0 Sferai 30 avg & 33-Ard wrie a1 215w ufead / wfaad fpmr &Y w1 e 21
1. Rooting reflex/ J@AIT (FfeT) Ufdad

2. Grasping reflex/ U8} (AR Ufcrad

3. Moro reflex/ FRY farad

4. Babinski reflex/ STfawp! Ufcad

Correct Answer :-

« Grasping reflex/ a1 (R ufdad

23) The basic unit of heredity is:/ SR BT YR TS _____ &
1. Chromosomes/ T[UR_IA

2. Gene/ S

3. DNA/ ST

4. Zygote/ THAS

Correct Answer :-

. Gene/Gﬁ_'T

24) Which among the following refers to a diseased or a defective tissue or a part of it?/gqﬁ fegeT arf fopelY I ar Y P AYdl ITP TP
YT A T &2

1. Impairment/ eftorar

2. Disability/ SRIaddl

3. Handicap/ﬁWT"lTﬂ

4, All of the abovelmﬁiﬁ

Correct Answer :-

¢ Impairment/ efforar

25) Which among the following term is used to refer to the new-born baby in the first four month of life?/ mﬁmaﬁmsﬁaﬂﬁ?mmmﬁsﬂﬁﬁ
T BRI AT 8?

1. Foetus/wm

2. Neonate/:ia\_rl'l'dm

3. Embryo/ Yur

4. None of these/ T7H I BIS a1
Correct Answer :-

« Neonate/ Tdold RIg

26) IEP stands for:/ GIT&"&FTﬂ BT RT ATH %:
1. Individualized Education Program/ $8 1A 3(aTSes UM I (qufaaard fRiefor srishH)

2. Integrated Education Program/ S¢TICS TSR WIUTH (FHfhd fR1eror s
3. International Environmental Program/ 56(4-‘&-1?1 Q'dliN'H.Cd iDL (me
4. Individual Education Pattern/ SSIfag31e TSlah ]I YR (qafadh fRIefor srefert)
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Correct Answer :-

« Individualized Education Program/ SSIAIATETS TR TR (Jafaadrd fRI&M0T BrichH)

27) According to the Juvenile Justice Act a ‘child’ means a person who has not completed/ﬁﬂ’ﬁ? =g fufraq & SRR, T BT Gl'zf@ fea q %
Rradiemg_ A7AE

1. 16 years of age/16 G
2. 17 years of age/17 G
3. 18 years of age/18 G

4. 21 years of age/21 G

Correct Answer :-

e 18 years of age/18 EL

28) 3 R’sin nursery school education means:/RIs} faemerd) f1am # 3 r's BT 3rf &:

1. Reading, Recitation, Reaction/ SIf&T (TeT), STSCTA (AR UTd), fRuawm (wfaferan)

2. Reading, Writing and Arithmetic/ SIfET (Tgm), i (feramm) iR sifEifess (3iior)

3. Reading, Racing and Resting/ ST&T (agm), IR (Srem), 3R A& (g

4. Reading, Recitation and Recreation/ SIf&T (T&T), YHTSCM (YR U18) Td Afhuee (7H-s50m9)

Correct Answer :-

« Reading, Writing and Arithmetic/ STET (EIEF!T)R'IB'%‘T (%IEQT) 3R afEfesd (Gﬁﬂﬁlﬁ)

29) Play in which young children play independently beside other children is known as:/ 98 aﬂ@'l forad Bt 7= oy Tl & U ® Wad FU Y Qed %,
Fgard! g1

1. Parallel PIay/WﬂTﬂT?ﬁST
2. Solitary pIay/W?ﬁST
3. Exploratory play/ Hﬁtﬁm

4. Day dreaming/ f&arey

Correct Answer :-

« Parallel Play/ FHHIR 13T

30) UNICEF stands for:/ -1 (QEASTSHISTE) BT R M &:

1. United Nations International Children Entertainment Fund/ JIRCS ERE SRR i-acﬁ“l QC((HH.C roc

2. United National International Children Entertainment Finance/ ZrTSCS A1 SCR-RMd [eg UeIeAHE By
3. United National International Children Entertainment Funds/ g1 EICE MR L E NG ﬁl@:f TexeHe ey
4. United Nations International Children’s Fund/ g 3%3 ErE 3’3?313 ] ﬁl@T\qW

Correct Answer :-

« United Nations International Children’s Fund/ JT8¢ S R $CX-RMA faee -~ 1

31) Which among the following is a type of associative learning?/ 37{& JPH '\‘IEH'Iﬁ 3rftRT @mﬁﬂﬁ‘ﬂ DT TP UPIR %’-‘
1. Trial and Error/ W—a’ﬁ

2. Classical conditioning/ RRUTITEA U@ (Feiid boiRiH)
3. Cognitive learning/ SIS SR (P FI'EF'D
4. Instrumental condiﬁoning/ﬁ?ﬂ'qu (Rﬁ?ﬁ$ KIRIED))

Correct Answer :-

« Classical conditioning/ RRUTATRT U@ e (GaTRidd drel=I-T)

32) Operant conditioning was propounded by:/ fSFaTHRIA WG @ &1 Uferdrg-T SRT fopar T AT
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1. PavIov/a?ﬁﬁH

2. Skinner/ PR

3. Piaget/m@f

4, Thorndike/ Qﬁ:fSTga;

Correct Answer :-

. PavIov/aaT“ﬁa

33) Which among the following is the correct full form of ICDS?/ en'é“fﬁﬁw Cal '\‘Iﬁ RTAH Sﬂﬁ J AT %7

1. Integrated Children Developmental Scheme/ i;dnl‘/{ds I?lc§-1 Sdaudcd wﬂn( TAferd a1 fapr thTrT:ﬂ)

2. International Child Development Services/ STIRMT T3S SATUHC Tawe (SR a1t fITa Yamg)

3. Integrated Child Development Services/ s;c"lucs ITSCS SadUHc ﬂ'ﬁ@ﬁ (ﬂﬁﬁﬁaﬁﬁw m
4. International Child Development Scheme/ 33?913 R Eﬂg@%ﬁﬁqﬁf Wy (WWW W)

Correct Answer :-

« Integrated Child Development Services/ 3¢S TT3CE SaaTHC TIGaw (JRfb aTet farg a9

34) Which among the following is a residential institution devoted to the care of children whose biological parents are deceased or otherwise unable or

unwilling to take care ofthemv/sq'ﬁﬁaﬁ'—rwWméa}ﬁﬁﬁaﬁmmﬂ?ﬁmmﬁa%ﬁﬁﬁﬁﬁwmﬁmma}wﬁ%m
ftre 3 91 T@uTa w4 B sramd a1 F arfreg e &

1. Day Care Centre/ feawita gHTd g (@W@?T)
2. Creche/ 9T (UTAT-TR/RIIHET)
3. Orphanage/ SATITAT

4. None of the above/g:fﬁﬁ a'ﬁé:ﬁﬁ

Correct Answer :-

e Orphanage/ 3TYTTT

35) If a child does not follow a moving object, does not reach for toys and things held in front of him and has a tendency to bring pictures or books very close to
his eyes, he might be suffering from:/ Tfg 1S area et Tifereiier avg BT ST T Pl 8, ISP WA U ¢ F¥refil qd avgaff a& yge a1
I8 UPHS BT YUTH 81 BT 8, 3R ST sl a1 RRaw! &1 Ut i@l & 9ga Iy 3@ ot ygii 8, @Y 98 { fifsa &t awar g1

1. Hearing impairment/ 4dUl efforar

2. Visual impairment/?@ &ﬁ'UR‘IT

3. Neurological impairment/ﬁﬁaﬁu efforar
4. Mental retardaﬁon/'ﬁlﬂm Hadr

Correct Answer :-

« Visual impairment/ € &fforar

36) Which among the following does not hold true for emphasizing the significance of Nursery School Education in India?/ HIRd H 9 faemerdt fRrem *

HEA IR §9 ¢ & Y 399 @ o9 9 181 o2

1. The rate of development is so rapid in pre-school years that child can be given more and more experiences/ﬁﬂ’??l'lf‘ltf-tfd¢ (Cﬁm auf # farg &t 28 3(‘17‘1 o
B B % o= 1 iftepiiies srua fou o god §

2. There is tremendous wastage and stagnation in India in a Class | and Il which can be prevented through Nursery school education/ YRd H Hal 1 AR 2 H

i 3egy g yiferiy § et T faamerd) fren & arend § Apumd &t ST Gbal §

3. Nursery School Education emphasizes the introduction of concepts at such a young age that children may tend to forget them when they grow older/m

foremerft Rien gt srearg & srayRonstt § uled R 90 Sl § {6 o= 98 81 IR 37 Yo A g

4. The provision of Nursery school education is a social and economic necessity as many mothers go out for work and there is no one to take care of small children
at home/ TS} faerarelt fR1e &1 MTa U Ue qraTfies Ud onfies siaxadsdr § Fife agd I AT ST R 91ROl 8 SR R § o= $1 34T & fow

Correct Answer :-

* Nursery School Education emphasizes the introduction of concepts at such a young age that children may tend to forget them when they grow older/:ﬁi—\ﬁ

foremerft Rien gt srearg & srayRonst § uled R 90 Sl § {5 o= 98 81 IR 3% Yo @ g
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37) Development that comes through exercise and effort is termed as:/ SATATH TG TATT & HTEH § aﬁ qre faerg __ Pgdrdl %:
1. Maturaﬁon/qﬁqw

2. Heredity/a.Q AGE)
3. Learning/ 31TeRTH (?Iﬁ"])

4. Practicing/ 3T

Correct Answer :-

» Learning/ S (F‘IEF'I)

38) Mechanical action of the middle ear is converted to electrical signals with the help of:/ P BI gifdw fopar ol GEHEGH J agua bl A
o wTet g1

1. Vestibular mechanism/ WeT0T (3REeR) aTaait

2. Auricle/ STRIG U/ (3R )

3. Cochlea/ HUTAT (P ITaeraM)

4. Malleus, Incus and Stapes/ T9-TgR (AfeTa9), RIUT (376 9) Td IHTT (W)

Correct Answer :-

. Cochlea/w (ﬁ%’cﬂ)

39) Composite Regional Centres for Persons with Disabilities functions under:/ ?;HTQ feagim Taife g‘ﬁh % (af‘fh'ﬁrl'd e el vk wa fag
faffade) _ deafasrd s f

1. Ministry of Rural Development/‘/'ﬂIﬁUT foewr wareg

2. Ministry of Social Justice and Empowerment/FﬂTﬂ%ﬁ; I Tq SHTAHTIRAT AT
3. Ministry of Education/ Rreq darera

4. Department of Disability Affairs/ e o fgvmT

Correct Answer :-

e Ministry of Social Justice and Empowerment/“v'ﬂﬂ'lﬁﬁ? Iﬂq@l SHTABTIRAT HATTT

40) Tendency to ascribe consciousness to inanimate objects is known as:/ forsifa aﬁaﬁ T AqT T P BY ‘Jﬁﬁl o _QTHTFI' T ST ST %:
1. Egocentrism/ @& s dl/ A el (W_‘?ﬂ)

2. Animism/ Siaarg (qﬁfh—\;q)

3. Self-esteem/ STHIHTT

4. Socialization/ ATHTSIEHRUT

Correct Answer :-

« Animism/ STaarg (Qﬁﬁ[m)

41) An adolescent belongs to which stage of play development:/ ﬁﬂﬁ?, aﬁsﬁ%ﬁ)‘m o fop sraw o 'Eaﬁ %?
1. Exploratory stage/ 3AY} SR

2. Play stage/ﬂﬂE,T SHAR[T

3. Toy Stage/ IRERIBIRSCEI

4. Day dream stage/m AR

Correct Answer :-

e Daydream stage/ﬁ’aﬂaﬂ SARIT

42) Which among the following is related to providing protection and child rights?/ﬁﬁ J Tﬁ?'\‘ﬁ&m T4 9T SRPR U HA q gefia %7
1. The Juvenile Justice Act/ﬁv_?ﬁ?m Sfafras

2. Child labour (Prohibition and Regulation) Act/ STcT 4H (ﬁlﬁﬂ@ ﬁm:ﬁ) Ifafras

3. The Right of Children to Free and Compulsory Education Act/ S BT ﬁWQﬁ ffard e o1 ifieR siftfam


https://applink.adda247.com/d/XhqWf9lSap
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4. All of the above/m Tt

Correct Answer :-

o All of the above/mﬁlﬁ

43) Threadlike structures that contain the genetic substance DNA are:/a YT Y AT o Z‘ﬁ'QFIQ' ATHD Giﬁaﬁﬁi tl?."l'zf 3-|a| %, _ﬁ?ﬂ’cﬁ %
1. Genes/Gﬂ:[
2. Chromosomes/ T[UIRTA

3. Heredity/a.Q AGE)
4, Environment/qqfaTW

Correct Answer :-

» Chromosomes/ JJURLA

44) Behaviour that fails to conform to social expectations due to ignorance of social expectations is known as:/ JrHTRoTE Glﬁ&ﬂﬁff 4| GI_G%FI:IT & BRI
araTRTE SrAEmsi F Srgura- # fawd g ard agR B ¥ A9 | ST STaT 2

1. Moral behaviour/ﬁm dgR

2. Immoral behaviour/ 3o (S'JII}RT‘D YdgR

3. Unmoral behaviour/ F-fad (3rRe) soagR

4. Non moral behaviour/ﬁﬁm (:lvﬂ—m dgR

Correct Answer :-

¢ Immoral behaviour/ Gﬁﬁ? (m dgR

45) Which among the following is the full form of AIDS?/ USH (EGTI'&‘@'QW) T el TR AH Sq'ﬁ Y Pl %?
1. Acquired Immuno Diseased Syndrome/QWéS‘ﬂ:ﬁ %?ﬁﬁ»’ﬁl@'q

2. Affected Immune Disease Symptom/ 3HaS B’ fedfis R

3. Acquired Immuno Deficiency Syndrome/msjﬂ:ﬁ Wﬁl—ﬁ;ﬂ

4. Actual Immune Deficiency Syndrome/ Qﬂﬂmi‘lﬂ:ﬁ SpRR ﬁl@ﬂ

Correct Answer :-

* Acquired Immuno Deficiency Syndrome/w_scgjﬂ:ﬁé R ﬁ@'ﬁ
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